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BASING DIAGRAM
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PIN 1 - NO CONNECTION
OR BASE SHELL

THE KT120 IS A BEAM PENTODE POWER AMPLIFIER PRIMARILY DESIGNED FOR AUDIO SERVICE. IT
CARRIES A 60 WATT PLATE DISSIPATION RATING WHICH PROVIDES FOR PUSH-PULL AMPLIFIER
DESIGNS UP TO 200 WATTS OUTPUT. CONSTRUCTION FEATURES PROVIDE FOR RELIABLE OPER-

ATION AT FULL RATINGS.

DIRECT INTERELECTRODE CAPACITANCES

GRID 1 TO PLATE
INPUT
OUTPUT

WITHOUT SHIELD

HEATER CHARACTERISTICS AND RATINGS
DESIGN MAXIMUM VALUES - SEE EIA STANDARD RS-239

AVERAGE CHARACTERISTCS

HEATER SUPPLY LIMITS
VOLTAGE OPERATION

MAXIMUM HEATER-CATHODE VOLTAGE

6.3 VOLTS

HEATER NEGATIVE WITH RESPECT TO CATHODE

TOTAL DC AND PEAK

HEATER POSITIVE WITH RESPECT TO CATHODE

TOTAL DC AND PEAK

CONTINUED ON FOLLOWING PAGE

INDICATES A CHANGE

—

1.8 pf

29 pf

10 pf
1.7-1.95 AMP
6.3+/-0.6 VOLTS
300 VOLTS
200 VOLTS




KT120

MAXIMUM RATINGS
DESIGN MAXIMUM VALUES - SEE EIA STANDARD RS-239

PLATE VOLTAGE, DC
TETRODE
TRIODE
GRID 2 VOLTAGE, DC
PENTODE CONNECTION
TRIODE & ULTRALINEAR CONNECTION
GRID 1 VOLTAGE, DC
PLATE DISSIPATION
GRID 2 DISSIPATION
CATHODE CURRENT
PENTODE CONNECTION
TRIODE & ULTRALINEAR CONNECTION
GRID 1 CIRCUIT RESISTANCE
FIXED BIAS
SELF BIAS
BULB TEMPERATURE

AVERAGE CHARACTERISTICS
CLASS A1 AUDIO AMPLIFIER - SINGLE TUBE

PLATE VOLTAGE

GRID 2 VOLTAGE

GRID 1 VOLTAGE

PLATE CURRENT (RANGE)

GRID 2 CURRENT (NOT MORE THAN)
TRANSCONDUCTANCE (NOT LESS THAN)

PLATE RESISTANCE (APROX.)

MAX. SIGNAL POWER OUTPUT (NOT LESS THAN)
TOTAL HARMONIC DISTORION (NOT MORE THAN)
CATHODE TO HEATER LEAKAGE (NOT MORE THAN)
(WITH *300V HEATER TO CATHODE DIFFERENCE)

TUNG-SOL

CONTINUED FROM PREVIOUS PAGE

850
650

650
600
-200
60
8.0

250
230

51,000
240,000
250

400

225

-14

135 - 165
14

12.5
3000

20

14

30

VOLTS
VOLTS

VOLTS
VOLTS
VOLTS
WATTS
WATTS

MA
MA

OHMS
OHMS
CELSIUS

VOLTS
VOLTS
VOLTS
MA

MA

mA/N
OHMS
WATTS
PERCENT

uA




TV "W UL VL FPU/ D

LU VMU WY AWS AW

LA AR

ol g
1\14_ 58¢

-+ 561
= i

KT120 U'S, la=fgUgl) . . Ll e
Un=6,3v /
. 7 52

3 | 1. ué=3ooviugz=2dov S0t
2 UA=300V:| g 2=225V e R gt 48t
3. Ua=300V {Ugo=250v Vi 46(

J
4. Us=300V,|{Ug2=300V 13
g
i
/

42
400
B SR WY SO Y2 § S
e 2 7 \ 36(
Lt 34(
i -7 32(

=i 300
la MA 4 _.N! 28¢
i KT120|T8] ta=tiUa, g v / /

260 (Ua.Ug3) ; A AT 260

Cmqu.q,m._\ Cnu.u)mﬁ:\ RPN QETe—— — e e [.\ S ___a...:u\f \il
MMM Ugi=-av , UgT=-a5v . \ \ \ \ MM
200 \ / \ 200
sl / / / AVaysans
_ 77 180
160 &
/ ‘ | VAWVAy mu b
120 7 7 7T LA S 120
1004 . =] \ - 100
80 80
/ / P /| Ug =60V 7
60 :
a0 } 7 \ / pd 7 60
20 W P A Ugl=75V jrdd \\ | 4
‘ |~ - o e ,

1030 50 100 150 200 250 300 350 400 450 500 Ua VvV -giv 45 40 3 3 25 20 5 18 53 0

~
N
N
™~

AW
N
N

N,

\
\

\

N
\

'\
|

A L2070



LU/YG

alnL Ui,

LODMw wiN ACL/ A BV UL

avwviy)

T ) | lamA o Tk
580 5t
.ﬁ 44
1 560 T 7} St
—L 543 \ 54
KT120 IS, la=f{Ug1) B :\ 529 KT120 En}co: \ 5
UH=6,3 = :
= ] J-— 50 Un ,m.u,\ . N U |
: ! 480 ' i 1 42
9 | 1. Us=250v)Ug2=240v / 1 | 1 Up=200v|Ug2=200V Bl
T2 UREZSOVUgZEZaV y 13 460 7 Us=200V{Ug2=225V T
L 3—ub=250v. | Ug2=28\: . LY 3-—Uh=200V] Uga=a50v o 4
4. Us=250v,Ug2=300v AR I . 4. Ub=200V|Ug2=300V LA
: 7 7 \ f
1 — +—I-#
= 7 7 5 400 7 ; p 43
11 360 i : L~ 3
1
VAR 1 T
/ ,_L =@ \\ 7 |~. H
: 1 \,n M 320 . 7 ‘.\ 4 . »
.\ ™
\ 717 300 ; A+H
A +— 250 _ - -1 77 M\._\J b
{ \ £ % 260 £ \ : =5
I N ] ) \I. i . - / s N
. wh 5 PAW LY X ma N
VAR S A | N 7y
—/ \\ / ——1 150 \\ / \ / — 181
\ A \ 160 ; \\ g 7 16t
Ve & N 717
< : 4 4
£/ L A VN
7 120 4 00
YAV, ; VAWV K
NN \\ & A \\ 1 .
L\.V s 2 : L “ {0
\\\\\ 2 \ \\\1 0
\\Ww\\\\\\\ ] |
Uglv - a5 a0 3 30 25 20 15 108 53 0 -UgtVv 45 40 35 W 25 0 5 108 53 0



LU/ MG

Hilh Uk,

HV.ulL

Ly40 UN Ad/ Al

«uUu |

73

Ua=400V, Ug2=225V, Lg1=-14V : Ua=400V, Ug2=225V, Ug1=-14V
s A 18=153mA, Ig2=105mA ia MA {a=153mA, Ig2=10,2mA
Ugt=_v A i KT120[TS, ta=RUg1)
360 e 360
- U+H=6,3V, Ug25250V Ugte.sy
340 | KT120(TS. fla=HUg1) UgTk-ov p——
=2 / Un=5,3V, UgZA25V ] 320 L1
300 : — & Pl
280 280t
= UgT1=110V
266 — 260 ———
240 —
e Ugt=10v Ugt=ov
220 220 HHHE
— ] .l\\ UgT=-jI5Vv
e 153
200 — 200 —
180 .\\\i\ 180 ..\\\\\11\\
et 41
160 T Ugi=15v 150 .
140 [H484 : et 140 P TgT=20v
. § ] \ m_ —.
1201 "1 ‘ 1201 - e e
e sl ] —1__
100 : UgT=20v 1007 R I
= i _— Ug1=-25v
80 ———C — S e —
40 ] _ 40 T o .
20 , 20 —
o 10 30 cmmm .
s1s 56 100 150 200 250 300 350 400 450 500 Ua v w 5D 100 150 200 - 250 300 350° 400 450 500 Ua\

\N\\m ¢ ot 2/0



